Maytag MFR35MNATS 13 - BASE FRAME (SERIES 11)
(2)

Maytag Commercial Maytag MFR35MNATS Washer Parts Parts Diagram 13 - BASE FRAME (SERIES 11
Click on the part number to view part

Original Part Number Replaced By Part Description

001 23002840 Frame

" 23002960 Frame
002 23001297 Clamp, Tub
003 23002841 Brace, Tub Support
004 23002842 Bracket, Support
005 23002843 Bracket, Support
006 23002844 Holder, Steam Tube
007 23002845 Connection, Part Back Plate
008 23002846 23001294 Bolt

" 23002931 Screw
009 23002258 Washer M14

" 23002657 23001292 Washer
010 23001599 Nut

" 23003746 Nut, M14
011 23002847 23001205 Bolt

012 23001304 23003765 Bolt M8x35


http://www.pwslaundry.com/c-299377-commercial-maytag-mfr35mnats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798666-maytag-23002840-washer-frame.html
http://www.pwslaundry.com/i-7798741-maytag-23002960-washer-frame.html
http://www.pwslaundry.com/i-7797848-maytag-23001297-washer-clamp-tub.html
http://www.pwslaundry.com/i-7798667-maytag-23002841-washer-brace-tub-support.html
http://www.pwslaundry.com/i-7798668-maytag-23002842-washer-bracket-support.html
http://www.pwslaundry.com/i-7798669-maytag-23002843-washer-bracket-support.html
http://www.pwslaundry.com/i-7798670-maytag-23002844-washer-holder-steam-tube.html
http://www.pwslaundry.com/i-7798671-maytag-23002845-washer-connection-part-back-plate.html
http://www.pwslaundry.com/i-7797847-maytag-23001294-washer-bolt.html
http://www.pwslaundry.com/i-7798722-maytag-23002931-washer-screw.html
http://www.pwslaundry.com/i-7798331-maytag-23002258-washer-washer-m14.html
http://www.pwslaundry.com/i-7797846-maytag-23001292-washer-washer.html
http://www.pwslaundry.com/i-7797999-maytag-23001599-washer-nut.html
http://www.pwslaundry.com/i-7799218-maytag-23003746-washer-nut-m14.html
http://www.pwslaundry.com/i-7797782-maytag-23001205-washer-bolt.html
http://www.pwslaundry.com/i-7799234-maytag-23003765-washer-bolt-m8x35.html

013 23002647 23001305 Bolt M8x25

015 23001607 23001266 Nut M8

017 23002653 23001203 Washer

019 23002462 Screw Lu

021 23001309 Washer Lu

023 23001734 23002425 Locker Washer M6

025 23002436 Not Available NUT (M6)

027 23001643 23002424 Washer M6.4


http://www.pwslaundry.com/i-7797853-maytag-23001305-washer-bolt-m8x25.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7797821-maytag-23001263-washer-washer.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-7798395-maytag-23002358-washer-washer-m8.html
http://www.pwslaundry.com/i-7798467-maytag-23002462-washer-screw-lu.html
http://www.pwslaundry.com/i-7797856-maytag-23001309-washer-washer-lu.html
http://www.pwslaundry.com/i-7797669-maytag-23001027-washer-washer.html
http://www.pwslaundry.com/i-7798443-maytag-23002425-washer-locker-washer-m6.html
http://www.pwslaundry.com/i-7797857-maytag-23001310-washer-nut-self-locking.html
http://www.pwslaundry.com/i-7797745-maytag-23001157-washer-bolt.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html

	Maytag MFR35MNATS 13 - BASE FRAME (SERIES 11)

